
MATHEMTAICAL TABLES

Integrals Containing Tan& Cot Function
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∫tan 3axdx= 1
2a
tan 3ax1

a
ln cosaxc

∫tan 3axdx= 1
2a
tan 3ax1

a
ln cosaxc

∫tan nax dx= 1
a n−1

tann−1ax−∫ tann−2ax dx

∫x tan ax dx=a x3
3

a3 x5
15

2 a2 x7
105

17a7 x9
2835

...c
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∫ tan
nax 

cos2ax
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∫ dx
tan ax±1

=± x
2
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∫
tan ax 
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dx= x
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∫
 tan ax 

aB tan x 
= 1
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∫ dx
1tan2 x 

= x
2
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∫ dx
a2B2 tan2 x 

= 1
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{x−∣ Ba ∣tan−1[∣ Ba ∣tan x ]}
∫ dx
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[ x B
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ln∣ aB tan xa−B tan x
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∫  tan x 
1 tan2 x 

dx=−cos2 x 
2
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∫  tan x
1a2 tan2 x 
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∫cotax dx= 1
a
lnsin axc
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